FONCTIONS RECIPROQUES des FONCTIONS USUELLES

[ IFonction Arcsin ‘

{ y = Arcsinz { LRSS sin?ry =
v € [-1,+1] y€[~5+3]
fonction impaire T s

continue sur [-1,+1]
dérivable sur |-1,+1]

[Arcsinz]’ =

v1— 2zt

| Fonction Arccos]

y = Arccosz , T = Ccosy
r € [-1,+1] y € [0,7]
fonction

continue sur [-1,+1]
dérivable sur |-1,41]
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[Arccosa]) =

%0,
aaaaa

| Fonction Arctan |

{ y = arctan z R L‘ar;}y "
e IR y E]'—Eg +§[___

fonction impaire
continue et dérivable sur IR

|
+ 22

[Aretanz] = |

relations imporl,a.ntcsl

!

l T
Vo € [~1,41]  Arctanz + Arclan— = ¢~ avec ez > 0

Arecsing + Arceosz = s
i &
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| Fonction Argsh ‘

{ y = Argshax { r = shy

x e IR y € IR
fonction impaire
continue et dérivable sur IR

1
Argshz] = ——
[Argsha] et

Argshx = In(z + V1 + 2?)

Fonction Argch

y = Argchz 5 gl
z € [1,+oq] y € [0. +o0]
fonction

continue sur (1, +o0]
dérivable sur |1, +oo]
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Argchz = ln(z +Va? =1) 2 >1

[Argchz]’ =

Argeh(—z) = In(—z 4+ V22 =1) z < -1

l Fonetion Argth

= Argihs = thiy
z €] — 1, +1f yE IR

fonction impaire
continue et dérivable sur |-1,4+1]

Argthz] =
[Argthal' = ——
| 14
Argtha = —]1‘1( i r) z €] — 1,+1]
= 2 Il -z
1 | 41
Argth— = 3111 (3’ i ) r< —louax>1
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